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PUZZLE o1 1

Eight persons - A, B, C, D, E, F, G and H are working In three
departments - Research and development(R&D), Quality assurance
and Product development at different posts i.e. Manager and TL.

They all have different years of experience.

The experience of the one who works as a Manager is an odd
number whereas the experience of the one who works as a TL Is an
even number. The experience of each person is awhole number and
not more than 50. At least one person and atmost two persons work

at each post of the given departments.

Note: If it is given that the person who is a manager or TL works with
X orthe onewhose experience is 25 years, then it indicates that both

persons work in the same department but not in the same post.

F, whose experience Is either a square or a cube number, works
along with the one whose experience is 24 years. F and D, whose
experience is a prime number, are working in the same post but not
In the same department. A works along with D and the difference
between their experiences is 3 years. C neither works in the same
department as A and F nor works in R&D department. C and H,
whose experience is a multiple of 8, are working in the same post in
the same department. E works along with G, whose experience is 5
years less than H. B has 10 years more experience than G. B neither
works in Product development nor has an experience in a prime
number. The experience of C is more than E but less than A, whose

experience is less than F. The sum of the experience of A and B Is
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not more than 50 years. The experience of none of the persons

working in the product development department is a multiple of 11.

3T6 TR - A, B, C, D, E, F, G 3R H o1 faUTT - e 3 fas19 (R&D),
TuTaNIT STYTEA 3R Iaure fawra # fafts uel srufa wdus ok dflwa w
HTH B g o1 37 I & URT 3IeRT- 3T TUl BT U 3| U6UPF & TqH
HTH B3I a1 BT U TP fauH HB11 7, Jafh ud & U H B HH
a1 BT AU Th I BT 8| TS Afad DT UT TH YUl &1 § 3R
50 ¥ 3t 78l 21 fau e fauTr & Yde Ug R &9 A & U Afad i
feray & iR FTH HA G |

i afe ug faar war g & a8 aafed ot udus a1 dud g, T & A1Y H1H
Hdl § 91 FoTaT1 3T 25 99 g, 1 gg SR wvar g & 31 aafea v gl
fAYTT & 19 HIA & AfP9 TP & ue W 17|

F, FOI®T 3y a1 91 U ¥ 91 94 G3T §, 39 Afad & HI1Y BTH HIdl @
STt 3T 24 99 81 F 3R D, ST 3YT T HTST TBT 8, TH ot
UG R T HX Vg & AP U ol fAUTT # 811 A, D & TTY HTH Hal § 3R
3% 3JHAl & §1T 3 T HT 3faX g1 C T a1 A 3R F & U fAurT § &
Hdl § 3R 7 8 R&D fAURT # 18 H=ar1 g1 € 3R H, &1 3rgyd 8 &1
MUrST 8, Th S TAUNT A TP ST UG R PTHPIE | E, G P JTY HTH HIAT S,
ST SUTH A5 TE FAGI B P U G I 10 ¥ 31fw qUa g BT dl
IdTe faprT # &0 ®vdl 8 IdTE fas faunT § & s+ ara fb=dt oft

i BT FHT 11 BT UG 6l 6|
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PUZZLE 02

Twelve persons- Iniya, Ella, Mayuri, Lolita, Ava, Mia, Grace, Urmi, Adhya,
Dhiya, Hasini and Isla are standing in two staircases viz., staircase 1 and
Staircase 2. Each staircase has 6 steps viz., the lowermost step is
numbered one and the topmost step iIs numbered six. Staircase 1 is to

the west of Staircase 2.

Note: If the person’s name is starting with a vowel, then they are standing
on an odd numbered step. If the person’s name has an odd number of
letters, then they are standing in an even numbered staircase and vice

vVersa.

Ava is standing below Adhya. Mayuri stands above the one who stands
Immediately below Adhya. The number of steps above Mayuri is one less
than the number of steps below Lolita. The number of steps between Ella
and Mia is one more than the number of steps between Mia and Grace.
Isla is standing immediately below Dhiya. Adhya stands above Urmi. Ella

and Ava do not stand on the same step.
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ares = sﬁmmmaﬁmwﬁmaqa&femfﬁmm”
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g, Ul I fAad wRur &1t wHifed fHar 141 7 3R 999 HUR TRT
P B HHIfbd fHar TaT 51 Hiel 1, At 2 F ufdm d 81

Aie: afg safet &1 71 W) A P 81 3871 8, df 9 faww wHifed i wws
¢1 afe aafed & 9 o fauw J=m o sier €, @Y 3 g9 wHifrd M R ES &
3R 3P faudia|

TqT, 3T & 1 TSI g | TP, 3T & 1% i WS i & SHuX Tol g
g & SR B difedl &1 T@ diferar & A9 o difedl of 9B 9 te
$H g1 T 3R foar & a9 &1 difeal &t d=m var oik var vs g Widt i
TSt el g



https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM

PUZZLE 03 1

Nine persons — A, B, C, D, E, F, G, H and | like different types of
sarees- Chiffon, Cotton, Georgette, Crepe, Linen, Netted, Satin,
Khadi and Banarasi silk and purchased it from three different shops-
The Chennai silks in trichy, Pachaiyapa silks in kanchipuram and

Pothys in Salem, but not necessarily in the same order.

Note: At least two persons and not more than four persons are
purchased in the same shop. If A and the one who likes Chiffon
saree are purchased from the same shop, then A doesn’t like Chiffon

saree.

A and the one who likes cotton saree are purchased from different
shops, but none of them are purchased from Salem. The one who
likes crepe saree and G are purchased from the same shop but not
with A. Only E and the one who likes chiffon saree are purchased
from the same shop. Neither A nor C likes chiffon saree. H
purchased a saree from Chennai silks but not with C. The one who
likes georgette is purchased from pothys and D doesn’t like crepe
saree. The number of persons purchased from pachaiyappa silks is
one more than the number of persons purchased from Chennai
silks. The one who likes netted saree is not purchased with the one
who likes banarasi silk, who Is not purchased from kanchipuram. B,
who doesn’t like linen saree and the one who likes khadi saree were
purchased from the same shop, but not with G. G neither likes
cotton saree nor purchased with E. D and | purchased in the same

shop, but neither of them likes georgette saree and satin saree.
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The one who likes Lenin saree is not purchased with the one who

sssss s

likes crepe saree. The one who likes satin saree is not purchased

with C, who doesn’t like khadi saree.
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ANSWER
PUZZLE 01
POST Research and Quality Product
Development assurance development
Manager F-49 G-11 B-21 D-31
T E-24 C-26 H-16 A-28

PUZZLE 02

Staircase 1 Staircase 2
Steps Persons Persons
6 Mayuri Dhiya
5 Isla Adhya
4 Hasini Mia
3 Urmi Ava
2 Lolita Grace
1 Ella Iniya
PUZZLE 03

The Chennai silks-Trichy

Pachaiyappa-

Kanchipuram

Pothys-Salem

e E-Cotton
e H-Chiffon

e A-Khadi
e C-Linen
e B-Netted

o G/F-
Satin/Georgette

e |-Crepe

e D-Banarasi

<
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INPUT OUTPUT

Input: drake 52 reversal 49 flaunt 38 plaintiff 26 adverse 67 line 73
Step 1: 58 drake reversal 49 flaunt 38 plaintiff 26 adverse 67 73 lined

Step 2: 31 58 reversal 49 flaunt 38 plaintiff adverse 67 73 lined
draked

Step 3: 77 31 58 reversal 49 38 plaintiff adverse 67 lined draked

cflaunt

Step 4: 41 77 31 58 reversal 49 plaintiff 67 lined draked cflaunt

adversed

Step 5: 51 41 77 31 58 plaintiff 67 lined draked cflaunt adversed

creversal

Step 6: 68 51 41 77 31 58 lined draked cflaunt adversed creversal
cplaintiff

Step 6 is the last step.

Input: clash 36 surpassing 51 utopia 19 historic 78 dilemma 45 dare
62

1. Which of the following is third to the left of fourth element from

right end in step 47
A.78

B. 45

C. historic

D. 39

E. None of these
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2. What 1s the difference of the numbers that come between

‘'dilemma’ and ‘cclash' in step 2 ?
A. 20

B. 15

C. 35

D. 17

E. Can't be determined

3. What is the position of '45" with respect to 'surpassing’ in step 4?
A. Third to the right

B. Fifth to the right

C. Fourth to the right

D. Third to the left

E. None of these

4. Which of the following elements is fifth to the right of "78" in step
57

A. 66

B. 45

C. dilemma

D. chistoric

E. None of these

5. "66 24 57 36 surpassing historic 78 dilemma 45 dared cclash

utopiad" is which of the following steps?

A. Step 4

B. Step 3 0
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D. Step 5

E. There is no such step

DATA SUFFICIENCY

1) Height of seven persons viz.- P, Q, R, S, T, U, and V are different.

Height of how many persons are more than Q?

a) Height of only two persons are more than R. Height of Q is more

than S and U but not as much as V.

0) Height of only one person is less than S, who is the third shortest

nerson to R. Height of Q is more than S and U but not as much as T

and P, who Is shorter to R.

c) Only three persons are taller than P. The number of persons taller
to R is the same as the number of persons shorter to U, who Is not

the shortest.

d) R is only shorter to T and V but not as much as S and Q, who Is

not the shortest.
e) None of these

2) Eight persons - P, Q, R, S, T, U, V, and W are sitting around a
circular table facing the center. Who among the following person

sits facing R?

a) The one who sits facing S sits third to the left of W. U neither sits
adjacent to W nor S. U sits third to the left of T, who doesn’t sit

adjacent to W.
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b) Three persons are sitting between P and T, who sits second to

the right of Q. W neither sits adjacent to P nor Q, who sits third to
the left of R.

c) V sits third to the right of P. Neither V nor P sits adjacent to R,

who sits third to the right of Q. One person sits between S and R.

d) S sits third to the right of T, who sits immediate left of R. U neither

sits adjacent to T nor S. U sits second to the left of V.
e) None of these

3) Seven persons — A, D, G, I, Q, T, and W were born on a different
day of the same month starting from Monday to Sunday. Who

among the following person was born just after W?

a) Four persons were born between T and I, either of them was born
on Monday. Q was born on Wednesday. Two persons were born

between Q and T, who was born just before G.

b) Three persons were born between G and Q, none of them was

born on Tuesday. One person was born between G and A, who was
born four persons after |I.

c) Three persons were born between | and A, who was born on
Friday. Neither W nor Q was born on Tuesday. W was born three

days before G, who was not born on Saturday.

d) Four persons were born between | and T, who was born just after
A. One person was born between A and Q, who was not born just
after W

e) None of these
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4) Seven persons - C, E, H, J, M, R, and Z are sitting in a row facingﬁ

north, How many persons are sitting between J and Z?

a) J sits third from the left end. Three persons are sitting between J

and H. Neither H nor J sits adjacent to Z.

b) Three persons are sitting between Z and R, who sits at either end.

Neither J nor H sits adjacent to Z.

¢) Z sits third from the right end. Two persons are sitting between Z

and E, who sits fifth to the left of H.

d) Two persons are sitting between E and Z, who sits third from the

right end. Neither E nor Z sits adjacent to H.
e) None of these

5) There are six members in the family. Two married members and

each married couple have at least one child. How Q is related to R?
a) R is the mother of Q. U is the son of R’s only son.

b) U is the son of Q’s brother. M is the only son of E, who is the father-

in-law of T.

¢) T is the only daughter-in-law of E. M is the father of U, who is the

nephew of Q.

d) U is the daughter of Q’'s brother. M is the only son of E, who is

married to R.

e) None of these
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ANSWER

INPUT OUTPUT

1) Answer: C
2) Answer: D
3) Answer: A
4) Answer: D
5) Answer: B

Change in words: Words are rearranged as per the ascending order

of number of letters and are

placed at extreme right end of the arrangement. Letter ‘d’ is added

In the end of the words that end

with a vowel while ‘c’ is added in the beginning of the words that do

not end with a vowel.

Change in numbers: The numbers are rearranged in ascending
order of product of the digits of a number and placed at extreme left

end of the arrangement. 6 is added to the number changed in Step

1, 5 Is added to the number changed in Step 2, 4 is added to the

number changed in step 3 and so on
until step 6, which is the last step.

Note: Only one number and one word is changed at each step

simultaneously.
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DATA SUFFICIENCY

1. Answer: B
2. Answer: D
3. Answer: C
4. Answer: A

5. Answer: E

GIVE YOUR FEEDBACK IN COMMENT SECTION
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